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Close Book 
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For the circuit as shown,  
(a) Determine the transfer function H(jω) = Vout(jω)/Vin(jω) in terms of R1, R2, C1, and C2. 
(b) Find H(jω) at low frequency (ω → 0).  
(c) Find H(jω) at high frequency (ω → ∞).  
(d) For a special case with R1 = R2 = R and C1 = C2 = C, Find H(jω) when ω = 1/RC. 

 
 
Solution: 
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(d) 
When R1 = R2 = R, C1 = C2 = C, 
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(a) )( ωjH   =                                                                                                                        ,  
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(c) 
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